AMENDMENT NO. 1 TO THE AGREEMENT BETWEEN THE CITY OF SAN MATEO AND TELECOMMUNICATIONS ENGINEERING ASSOCIATES FOR TELECOMMUNICATIONS MAINTENANCE AND MANAGEMENT SERVICES (Original Amount \$255,205; New Amount Not to Exceed \$364,362)

WHEREAS, the City of San Mateo ("City"), a municipal corporation of the State of California, and Daryl D. Jones, Inc. dba Telecommunications Engineering Associates ("CONTRACTOR"), entered into an Agreement for Telecommunications Maintenance and Management Services ("Agreement") on October 1, 2020; and

WHEREAS, City and CONTRACTOR wish to amend the Agreement effective October 1, 2022 to increase compensation and extend the term of this Agreement.

NOW, THEREFORE, the parties agree as follows:

- Section 4 of the Agreement is amended to read: Term: The services to be performed under this agreement shall commence on July 1, 2020 and be completed on or about June 30, 2027.
- Section 5 of the Agreement is amended to read: Payment: Payment shall be made by CITY only for services rendered and upon submission of a payment request upon completion and CITY approval of the work performed. In consideration for the full performance of the services set forth in Exhibit A, City agrees to pay CONSULTANT a fee pursuant to the rates stated in Exhibit B1 (revised August 19, 2022), attached and incorporated by reference.
- 3. The remaining terms of the Agreement remain in full force and effect.

[SIGNATURE PAGE FOLLOWS]

IN WITNESS WHEREOF, CITY OF SAN MATEO and Telecommunications Engineering Associates have executed this Agreement on this _____ day of _____, 2022.

CITY OF SAN MATEO

CONTRACTOR

Ed Barberini Chief of Police Date

Daryl D. Jones President Date

APPROVED AS TO FORM

Bahar Abdollahi Assistant City Attorney Date

August 19, 2022			Schedule "
PD-1 SYSTEM	Quantity	Monthly Cost Each	Monthly Total
T-Band duplex base station T-band voting receiver Motorola Digitac comparator w/ power supply Transmitter site-select relay system CTI comparator display system	3 3 1 1 0	\$165 \$76 \$136 \$7 \$18 Total >>	\$495 \$228 \$136 \$7 <u>\$0</u> \$866
PD-2 SYSTEM	Quantity	Monthly Cost Each	Monthly Total
T-Band duplex base station T-band voting receiver Motorola Digitac comparator w/ power supply Transmitter site-select relay system CTI comparator display system	3 3 1 1 0	\$165 \$76 \$136 \$7 \$18 Total >>	\$495 \$228 \$136 \$7 \$0 \$866
DPW SYSTEM	Quantity	Monthly Cost Each	Monthly Total
/HF duplex base station /HF voting receiver Motorola Digitac comparator w/ power supply Transmitter site-select relay system CTI comparator display system Desk set remote control	2 1 1 1 0 0	\$158 \$76 \$136 \$7 \$18 excluded_ Total >>	\$316 \$76 \$136 \$7 \$0 excluded \$535
ADTRAN T1 MULTIPLEXERS	Quantity	Monthly Cost Each	Monthly Total
Adtran Atlas 550 multiplexer and DACS Adtran TA-850 multiplexer	0 0	T&M T&M_ Total >>	\$0 \$0 \$0

Agreement with Telecommunications Engineering Associates for Telecommunications Maintenance and Management Services

August 19, 2022				Schedule
ZETRON RADIO CONSOLE ELECTRONICS			Monthly Cost Each	Monthly Total
Zetron Max workstation bundle (touchscreen mo	9		\$142	\$1,278
Zetron headset jackbox	18		\$15	\$270
Zetron footswitch	9		\$8	\$72
Zetron additional speaker	9		\$6	\$54
Zetron Max Radio gateway conventional	10		\$38	\$380
Zetron Max Radio digital gateway	3		\$42	\$126
Zetron DC power system	1		\$72	\$72
Zetron touchscreen LCD monitor	9		T&M	\$0
Zetron Ethernet switch	2		\$18	\$36
Zetron Max Central controller	2		\$95	\$190
Zetron aux I/O interface	2		\$28 _	\$56
			Total >>	\$2,534
			Cost Each	Total
DM monitor and incom	•		T	
CDM monitor receivers	0		T&M	\$0
JHF T-band control base station	0		T&M	\$0
Receiver multicouplers	0		T&M	\$0
CCC disconnect timer system letClock	1		\$15 T&M	\$15
RECIOCK			Total >>	\$0 \$15
				Manthlu
SUMMARY				Monthly Total
PD-1 SYSTEM				\$866
PD-2 SYSTEM				\$866
PW SYSTEM				\$535
DTRAN T1 MULTIPLEXERS				S0
ETRON RADIO CONSOLE ELECTRONICS				\$56
				\$2,534
		Monthly Total		\$4,857
		Less 10% for 5 year commitment		\$486
			-	\$486
		Monthly Total With Discount		\$4,371
		Annual Total With Discount		\$52,456

Agreement with Telecommunications Engineering Associates for Telecommunications Maintenance and Management Services